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1 i ts 4(A-1) 114.01. 10 — 0. 059
2 it 5(A-2) 114.01.10 0. 053 0. 069
3 i ts 6(A-3) 114.01. 10 0.031 0.101
4 vt R (A4 114.01.10 0. 047 0.101
5 B 1% (A-5) 114.01. 10 — 0.100
6 £/~ F(A-6) 114.01.10 0. 045 0.106
T &9 X(A-T) 114.01.10 0.188 0.524
8 %+t 3(A-8) 114.01.10 0.114 0.263
9 L EE (A-9) 114.01.10 0.119 0.191
10 %+ 2(A-10) 114.01.10 0. 143 0.174
11 =4 L (A-1D) 114.01.10 0. 059 0. 152
12 % 4 (B-1) 114.01.10 0.173 0.284
13 K 3(B-2) 114.01.10 0.034 0.076
14 # 7 31(C-1) 114.01.10 0.196 0.415
15 R & 37 (C-2) 114.01.10 — 0.083
16 BE *(C-3) 114.01.10 — 0.136
17 L 1(C-4) 114.01.10 0.094 0.171
18 L 2(D-1) 114.01.10 0.106 0.503
19 H %L 1(D-2) 114.01.10 — 0. 080
20 H % 4 2(D-3) 114.01.10 0. 040 0.111
21 i (D-4) 114.01.10 0.070 0.178
22 B 251(D-5) 114.01.10 0. 052 0.112
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28 < RESIRE Rk 114.01. 10 — 0.125

29 B A 114.01. 10 — 0. 233
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